| N of reco track vs normalized x2 | | N of associated (recoToSim) tracks vs normalized x? N of associated (recoTosim) looper tracks vs normalized X

2 F - 2 2 2
s [ o S S ]
I g g g
I prlon o = 3 Z
Ba S R %10 =T
Fo = F - 210
[ = [ =
10°F- % 10°E- 3
3 3 10?
10%F g 107 -3
[ [ 10
10f 10§
1 1
o o = o 1
I © I
@ x H @
0.5fF-- & os—-* o b 0.5~ BE R 1 A S E “EEF
P T T R e AL P TS N S I TR S
0 2 4 10 12 14 16 18 20 0 2 4 6 8 10 12 14 16 18 20 0 2 4 6 8 10 12 14 16 18 20 0 2 4 6 8 10 12 14 16 18 20
track x2 track x2 track x2 track x?
fi d_RECO
[ Nof reco track vs. { ——— E%@ — erset
g , g , g g
=10 S10°E o p
2 = o o < o
3 El: = 810
=
=}
=l
10?
10
1
il
T 4
x
2|




	Contents
	Page 1


